COMMSCOPE’ Installation Guide

860679623
Rev C Issue 1, May 2024
Www.commscope.com

Armored Grounding Kits Installation Guide

General

This installation guide provides guidelines for armored cable preparation, and procedures for proper installation of
armored grounding KITs and Rack to Rack grounding KIT; these KITs are designed to be used in Data Centers /
Central office.

Ordering information is listed below:

760258219 CSAGK ARMORED CABLE GROUNDING KIT .62"-1.03"
760258218 CSAGKX ARMORED CABLE GROUNDING KIT .94"-1.50"
760258272 CSAGKR RACK TO RACK GROUND KIT

How to Contact Us

To find out more about CommScope products, visit us on the web at http://www.commscope.com/

For technical assistance, customer service, or to report any missing/damaged parts, visit us at
http://www.commscope.com/SupportCenter

Tools Required

Gloves (latex and nitrile gloves for cut resistant)
Caliper or tape measure

4" socket or nut driver

Phillips screwdriver (PH3)

Pen or marker

Box Cutter

3] e ©2024 GommScope, e e M
ormScope e . ' \
e Corke Abbey, Bray Al rights reserved coe an ed P Page 1 of 7
__|

Co. Dublin, Ireland
Altn: Legal Department www.commscope.com/ProductPatent/ProductPate
nt.aspx


http://www.commscope.com/
http://www.commscope.com/
http://www.commscope.com/SupportCenter

860679623
Installation Guide www.commscope.com

Cable preparation — Strip armored cable jacket, approx. 1.00 — 1.25 in.

1. Using marker or pen mark the 1.00-1.25 in.

Page 2 of 7


http://www.commscope.com/

860679623
Installation Guide

WWW.Commscope.com

CSAGK: ARMORED CABLE GROUNDING KIT .62"-1.03"

P e i e

CSAGK parts list:
- Armored cable ground 24in Length
- PP black cover CFNFR
- Worm-drive hose clamp 9/16” - 1 1/16”
- M®6-1 PH, Paint cutting screw (2)
- 12-24 PH, Paint cutting screw (2)

CSAGK ARMORED CABLE GROUNDING KIT INSTALLATION

1. Insert hose clamp and align it using ground terminal slot guides.

Page 3 of 7



http://www.commscope.com/

860679623
Installation Guide www.commscope.com

2. Using 4" socket or nut driver, tight hose clamp, torque at 14-16 in-Ibs.

3.

Page 4 of 7


http://www.commscope.com/

860679623

Installation Guide www.commscope.com

CSAGKX: ARMORED CABLE GROUNDING KIT .94"-1.50"

CSAGKX parts list:
- Armored cable ground 24in Length
- PP black cover CFRFR
- Worm-drive hose clamp 15/16” - 1 1/2”
- M6-1 PH, Paint cutting screw (2)
- 12-24 PH, Paint cutting screw (2)

CSAGKX ARMORED CABLE GROUNDING KIT INSTALLATION

1. Insert hose clamp and align it using ground terminal slot guides.

Page 5 of 7


http://www.commscope.com/

860679623
Installation Guide www.commscope.com

2. Using V4" socket or nut driver, tight hose clamp, torque at 14-16 in-Ibs.

3. Use insulation cover to protect and hides connection.

Page 6 of 7


http://www.commscope.com/

860679623
Installation Guide www.commscope.com

CSAGKR: RACK TO RACK GROUND KIT

CSAGKR parts list:

Rack ground 6 AWG jumper 24in Length
M6-1 PH, Paint cutting screw (4)
12-24 PH, Paint cutting screw (4)

CSAGKR RACK TO RACK GROUND KIT INSTALLATION

1. Bond jumper by screwing both ends of the straight lug to rack using provided M6 or 12-24 screws, torque at
14-16 in-lbs.

Page 7 of 7


http://www.commscope.com/

